Echec & Mat junior 133 — Solutions

Parcours du Pion

(1) 1.8c8#

(2) 1. Weo#
(3) 1.¥nh7#
(4) 1.¥he#
(5) 1...&e2#
(6) 1.g4#

Parcours du Cavalier

(1) 1.2d5

(2) 1...e1%¥+ 2. 2xe1 £xf3

(3) 1... g5+ 2.2h1 Wxa5 3.bxa5 Exb2
(4) 1.Bh8+ dxh8 2.5,g6+ h7 3.5)xh4
(5) 1.Exc3 Exc3 2.2d4+

(6) 1...Wxg6 2.¥xg6 £d4+

Parcours du Fou

(1) 1...&xg2+ 2.¢bxg2 Wif3#

(2) 1...2d1+ 2.8xd1 [2.Soxd1 Wixf1#] 2... 824
(3) 1.2e4 et mat imparable en f6.

(4) 1.Wg7+ Exg7 2.hxg7#

(5) 1.%xh6+ gxh6 2.8g8#

(6) 1.%xf7+ oxf7 2.2exfo#



Parcours de la Tour

(1) 1..%h1+ 2.2xh1 Eh4+ 3.¢2g1 Bn1#

(2) 1.£c6 ©xcb6 2.Wxb5

(3) 1...2c3 2.%/xc3 axb4

(4) 1.d7 £xd7 [1...Wxd7 2.Wxd7 £xd7 3.22d6] 2.2xf6+ ¥xf6 3.¥xd7
(5) 1.5)xF7+ Exf7 2.8g5 Wh6 3.8xf7

(6) 1.5d8+ Wxd8 2.Wd2+ dhe5 3.Wxd8

Parcours de la Dame

(1) 1.E2xe6+ fxeb 2.Wig7+ e8 3.Wg8+ the7 4.Wf7+ d6 5. xec#

(2) 1...8xf2 2.0xf2 ¥rxg3+ 3.¢bxg3 gxh6

(3) 1.Exd5 Exd5 2.Wixg5 Wcs 3. 16+

(4) 1..Wxg3 2.hxg3 H)f3+ 3.bg2 Eh2+ 4.1 Hixd2+

(5) 1.&xf5+ Exf5 2.2e7+ g8 3.h7+ &f8 4.2a7 Hh5 5.8g7+ he8 6.0)f6+
¢d8 7.8xh5

(6) 1...WixF1+ 2.8xf1 D)f2+ 3.2g1 HH3+ 4.8g2 Hh1+ 5.cbxh1 Bxh2#



